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TrigonometryExercise3 for No.9012
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[ RE 317 |
I=—— 6= i ]
2 3 1=180° .6=2760°
L L 2=(-225)° .7=(-2115)
6 6 3=(-120)°  .8=2490°
T 137 o
Nol=| 3=—— 8=-— . No2 = . 180
3 4 4=(-150° 9=|—
n o
.4:—4 9:2 o 810
5=720° 10=|-—
197 L T ) |
S=— " 10=-65

1
No3 = [ Conditionl = [COS( 0)=

5}, Condition2 = [Cot(0) < 0], Quest = Csc(e)}, ,

1
I |

No4 = [ Conditionl =[Sec(0) < 0], Condition2 = [ Tan(0) = 2], Quest = Sin(0) ],

n 2
No5:[,4 =0, B=", Condition =[Sin(9)=‘

7},Questz[Cos(O)—Cot(e)]}, {

No6:[A :TTE, B =2, Condition :[(xc(e) =ﬂ Ouest = [ Tan(0) — Sec(@)]}, {

No7:[A =§,B= ., Condition =[Tan(6) =ﬂ Ouest = [ Sec(0) + Csc(e)]}, [

2

1

e
|

=[5
|

X [Page

0001]

=[5
| |

No8=|A=n,B= , Condition =[Sec(0) =-2], Quest =[Cot(6) + Csc(0)] |, ,
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o«



X
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TrigonometryExercise3 for No.9016

[ 191 |
I=m 6=— _ _
6 1=90° 6=2670°
yo 2T D 2=(-210)°  .7=2385°
6 4 3=(-240)°  .8=(-960)°
T 14wt o
Nol=| 3=—— 8= , No2 = . 180
4 3 4=(-135) 9=|—
4=z 9=7 T
T 3 T B o B 540
5=(-2160° .10=|-—
11x L T
5= 10=-45
L 2 |

1
No3 = [ Conditionl = [Tan(0) < 0], Condition2 = [ Sin(0) = —} Quest = COS(G) [
No4 = [ Conditionl =[Cot(0) = 1], Condition2 =[Csc(0) < 0], Quest = Cos(0)], [
T 4 «/7
No5=|A4=0,B =5, Condition =| Cos(0) =; , Quest=[2 Cot(0)] |, ,

e
Noé:[A =§, B = n, Condition :[Sin(e) _ 4} Ouest = [Cos(0) + Tan(e)] [ﬂ}

(
N08—[A =7, B =2 n, Condition =[Tan(6) =%}, Quest =[Sec(0) — Csc(e)]}, ,{
0002]
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“EE

No7 {Azn,B:T Condition = [Csc(0) =-5], Quest =[Sec(0) — Tan(e)]} ,[

«‘f\

B
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TrigonometryExercise3 for No.9018

R 63
d=— 6=- ) _
2 4 1=90° .6=(-1680)°
Lo ® 2 2=135°  .7=2565°
6 3 3=210° .8=(-2010)
2n 537 o
Nol=|3=—" 8=-— ,No2 = o 360
3 6 4=(-300° 9=|—
I "
A== 9=4 ) 540
5=1800° .10=|-—
27 ¢ L T J |
5= 10=55

No3 = [ Conditionl = |:COS(9) = Z}, Condition2 = [Csc(0) < 0], Quest = CSC(e) > [_)}

&

G

No4 = [ Conditionl =[Csc(0) < 0], Condition2 =[Cot(0) =2], Quest = Csc(0)], {

\ﬁ

No5 = [A 0, B_E Condition =[Csc(0) = 2], Quest =[Cos(0) — Cot(e)] ,[

I—I’\

3n
=——,B=2m, Condition =[Tan(0) =-1], Quest =[ Sec(0) + Csc(O)]}, ,

Nob6 = {A
2

N07=[A zg,B =1, Condition =[Sin(9) :g}, Quest =[Cos(0) — Cot(e)]}, ,[

7

(

):0:9:0.0:9:9.0:9:9.0:9:9.0:9:9.0:9:9.0:9:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:0.0:0:0.0:0:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:0.0:0:0.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:¢

1

3
No8 =[A =m,B =TTE, Condition = [Csc(0) =-3], Quest =[Sec(0) + Tan(e)]}, ,
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TrigonometryExercise3 for No.9036

[ 851 |
I=mn 6= _ _
6 1=90° .6=(-2730)°
L T 2=(30)°  .7=(-2295)°
3 3 3=(-240)° .8=(-1140)°
R 15« o
Nol=| 3=—— .§=- , No2 = . 360
4 4 4=45 9=|—
Tn "
A= 9=7 ) 450
5=810° .10=|-—
117 T ) |
S=-— - 10=135

No3 [ Condition] =[Tan(0) < 0], Condition2 = {Cos( 0)= l}, Quest = Csc( 9) [ ' }
No4 = [ Conditionl =[Sec(0) < 0], Condition2 = [ Tan(0) = 7], Quest = Csc(0)], [ }
No6 [A = 7, B =2 n, Condition = [ Sin(0) = %}, Quest =[Sec(0) + Tan(e)]} , { }
No7 [A :n,B=T, Condition :{Tan(e) =l} Quest =[Csc(0) — Sec(e)]} ,{ }
T

No§ [A—E,B:TE,Condition:[COS(e):_S} Quest = [Sin(0) — Tan(e)] { }

XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXX

e

No5 {A 0,B= E, Condition =[Sin(9) = %}, Quest =[Cot(0) + COS(@)]:| , [
3n

[Page

X 0004]
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TrigonometryExercise3 for No.9037

Nol =

1
No3 = [ Conditionl =[Cot(0) < 0], Condition2 = [ Sin(0) = —} Quest = Cos( 9) {

d=x
5w
2=——
4
5w
3=
3
S5m
A=——
6
11
S=-

237
6=
4
13®
T =—
6
131
=
3
9=1
10=2.5

, No2 =

1=270°

2=(315)°

3=(-60)°

4=(-330)°

5=(-2520)°

6=(-2280)° |
7= (-2025)°
8=(-2010)°

2]

990
A0=|-—""
s

No4 = [ Conditionl =[Cos(0) < 0], Condition2 = [Tan(0) =-2], Quest = Csc(0)],

N05=[A=O,B=§,Conditionz[Csc(9)=2],Quest=[2C0t(6)]}, ,{ '
No6 = [A =7, B= 37n’ Condition = {Cos(@) = %}, Quest =[Cot(0) + Csc(O)]}, , { }
No7 = [A—%B 2T, Condltlon—[Sm(e)——?)} Quest—[Cot(9)+Cos(6)]} ,[

No8 = [A = g, B =mn, Condition =[Sec(0) =-2], Quest =[Cot(0) + Csc(O)]}, , {—}
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TrigonometryExercise3 for No.9138

i 47 1|
I=n 6=-— _ _
6 1=90° 6=1755°
A 2=(-120)° .7=(-1500)°
4 4 3=(-135°  .8=1650°
T 16 &t o
Nol=| 3=—7"7" 8=- ,No2 = o 360
6 3 4=(-330)° .9=|—
4=z 9=7 i
T3 T B 0 [ 630
5=(-1080)° .10=
191 L T )
S=- 10=-15
L 2 i

No3 =| Condition]l =[Tan(0) < 0], Condition2 =| Cos(0) = 5| Quest=Tan(0) |, , v

5

No4 = [ Conditionl =[Sin(0) < 0], Condition2 =[Tan(0) = 1], Quest = Cos(0)], ,{ () }

|
|
|

3m 11 o
No8 ={A =7, B =2 n, Condition ={Sec(9) =:}, Quest =[Cot(0) + Csc(e)]}, ,[—(}

):0:9:0.0:9:9.0:9:9.0:9:9.0:9:9.0:9:9.0:9:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:0.0:0:0.0:0:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:0.0:0:0.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:¢

No5 = [A =0,B =§, Condition = {Cot(e) zg}, Quest =[Sec(0) + Csc(e)]}, , [

3n 7
N06:{A =7, B :7’ Condition :[Tan(G) =g}, Quest =[Sin(0) + Cos(@)]}, ,[

N07:{A =§,B: nt, Condition = [Csc(0) =4], Quest =[Cot(0) — COS(@)]}, ,[
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TrigonometryExercise3 for No.9602
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i 3 217w |
I="— 6= ] _
2 4 1=180°  .6=(-1215)°
Lo Ir ,_ Dm 2=45°  .7=1200°
4 6 3=(-30)°  .8=930°
S5n 40 1t o
Nol=| 3=—""" 8=- ,No2 = o 180
6 3 4=300 9=|—
T
4=—— 9=2 o
' 3 ' _ 0 _ (450
5=(-1080)° .10=
23 ¢ L T J |
=== 10=55

2
No3 = [ Conditionl =[Cot(0) < 0], Condition2 = [ Sin(0) = 5}, Quest = Cot( 6)} , |:

|

No4 = [ Conditionl =[0 < Cos(0)], Condition2 =[Tan(0) =-4], Quest =Csc(0)], , [

| I

=085 Contion=| 5613 } [
No5 = AZO’B:E’ Condition =| Sin(0) =7 |, Quest =[Tan(0) — Cos(0)] |, ,| —
N06:[A:37 B=2m, Condztzon—[Sm(e)— 1} Quest =[Cot(0) — Sec(@)] {

No7 = [A I, B—T Condztzon—{Cos(G)— 1} Quest =[Tan(0) — Csc(e)] {

~
[

\ﬁ \ﬁ

[Page

0007]

N08=[A =5, B =, Condition =[Sec(9) =§}, Quest =[Cot(0) — Csc(e)]}, ,[ﬁ
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TrigonometryExercise3 for No.9616

_ .
== b6=—"" _ _
3 1=90° 6= (-495)°
Lo, BT 2=330° 7 =420°
6 6 3=240° .8=(-1230)°
T 631 o
Nol=| 3=— 8= ,No2 = o 360
3 4 4=(-135)° 9=|—
T
=1 gy 0
4 _ o o[ 120
S5=(-1440)° .10=|-
231 L T J |
S="07 10=45

2
No3 = { Conditionl =[Cot(0) < 0], Condition2 = [Cos( 0)= ;}, Quest = Cot( 9)}, ,

No4 = [ Conditionl = [ Cot(0) =-5], Condition2 =[0 < Sin(0)], Quest = Cos(0)], {—)}

No5 = {A =0,B= g, Condition = [Tan(e) = %}, Quest =[Sin(0) + COS(G)]:|, , [_)}

No6 = {A —n B :37“, Condition = [ Sec(0) = ﬂ Ouest = [Sin(0) - CO‘[(B)]}, , [

N07:[A zg, B =m, Condition =[Csc(0) =21, Quest = [0]} ) {L()}

2

’\‘\.
1

{ TE 1 } { :)}
No8=| A= 5 , B=2m, Condition =[Cot(0) =-1], Quest =[Csc(0) — Cos(0)] |, ,
[Page = 0008]
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TrigonometryExercise3 for No.10152

[ 3 157 |
I=—— 6=- _ i
2 4 1=180°  .6=(-2565)°
Lo tr 16 2=150°  .7=2820°
6 3 3=240° 8=1830°
5m 41 = o
Nol=|3=—-— 8=-— , No2 = . 360
4 6 4=135 9=|—
T
57 o
4= 3 9=3 . 990
S5=(-1440)° .10=|—
27 L T A
5= 10=35

’
i

4
No3 = [Condmonl [Sln( 0)= —J Condition2 = [ Cot(0) < 0], Quest = Tan( 9)

B

No4 = [ Conditionl = [ Cot(0) =-5], Condition2 =[0 < Csc(0)], Quest = Csc(0)], [

[ﬁ

| |

7
No5 = [A =0,B =§, Condition = {Cot(e) = 5}, Quest =[Sec(0) + Csc(e)]}, ,

=
1

L 17N

No6:[A:37B 2m, Condztzon—[Sm(O)— 5} Quest—[Cos(9)+Tan(9)]} ,[
{ﬂ

(

1= o | [

No8 = A=n,B=T, Condition = [Sec(0) =-8], Quest =[Csc(0) - Cot(0)] |, , —(

X [Page = 0009] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXKKKXKXXXXKKKKKKK KKK XXX KKK KKK KKK KKK KKK KKK KKK KK KKKKKK

N07:{A =§,B: n, Condition = [Tan(0) =-1], Quest =[ Sin(0) + COS(@)]}, ,
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TrigonometryExercise3 for No.11738

i T 19 |
I=—  6=- _ _
2 6 1=270° 6=(-750)°
4 4 3=(-330)° .8=(-1035)°
T 32m o
Nol = 3= == ,No2 = o 270
6 3 4=60 9=|—
4n "
5=(-1800)° .10=|-—
27 ¢ L T J ]
S=-= 10=35

2
No3 = { Conditionl = {Cos( 0)= 5}, Condition2 = [ Csc(0) < 0], Quest = Csc( 6)}, ,

NEHE

No4 = [ Conditionl =[Cos(0) < 0], Condition2 = [Cot(0) =-4], Quest =Sin(0)], , [

| IS

No5 = {A =0,B= %’ Condition = [Cos(e) = %}, Quest =[Csc(0) + Tan(e)]}, , {

| S

3n -10
Nob6 = {A =m,B :7, Condition = [Csc(@) :T}’ Quest =[Cot(0) — Cos(e)]}, ,[

| I

No7 = {A zg, B =, Condition = |:COS(e) =?}, Quest =[Tan(0) + Cot(e)]}, ,[

B

N08=[A=37n,B=21c,Conditi0n=[Tan(9)=—1],Quest=[Sin(e)—Cos(G)]}, ,{ (}
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TrigonometryExercise3 for No.11754
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i 3ln
A=z 6=— _ _
4 1=90° .6=(-1770)°
X ,_ 33T 2=(-60)°  .7=1935°
4 6 3=(-225)° .8=(-1500)°
S5n 261 o
Nol=| 3=— 8= ,No2 = o 90
6 3 4=(-330)°  9=|—
T
P 9=4 o
T3 o ~ 0 _ 2%
5=(-2610)° .10=
231 L n J |
S= 10=65

5

1
No3 = [ Condition] =[Cot(0) < 0], Condition2 = [Cos( 0)= —} Quest = Csc( 6) }

No4 = [ Conditionl =[0 < Csc(0)], Condition2 =[Tan(0) =-7], Quest = Cos(0)], [

N05:{A=O,B=§,Condition:{Sec(G):IS—z} Quest—[Csc(9)+Tan(9)]} ,[
3w -2

No6:[A:7,B:2n,Condition:[Sin(G):;},Quest:[Cot(O)—Tan(e)]}, ,{

N07=[A=§,B=Tc,Conditionz{Sec(O)z%},Questz[Sin(9)+Tan(9)]}, [

4= 5= Comtion=| o) =3 | =5 | [
No8 = A=n,B=T, Condition = Cot(9)=g , Quest =[Sin(0)—Cos(0)] |, ,| ——

):0:9:0.0:9:9.0:9:9.0:9:9.0:9:9.0:9:9.0:9:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:0.0:0:0.0:0:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:0.0:0:0.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:¢

""Qb*\j Sk
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TrigonometryExercise3 for No.11841

i 797 |
== 6=- i ]
2 6 1=270° .6=1230°
L,o3r 227 2=240°  .7=2460°
4 3 3=(-45)°  .8=(-2655)°
T 2l ¢ o
Nol=| 3=-—— 8= ,No2 = o 270
3 4 4=(30)°  9=|—
T
p I1n 97 .
A= o= B o . (810
5=(-2160)° .10=|—
Tn L T /|
S=—  10=45
i 2 |

3
No3 = [ Conditionl =[Cos(0) < 0], Condition2 = [ Sin(0) = } Quest = Tan(e) [

b«ﬁ

1

No4 = [ Conditionl = [Sec(0) < 0], Condition2 = [Tan(0) = -4], Quest = Csc(0)], {
No5 = {A =0,B= %’ Condition = [Tan(e) = é} Quest =[Sec(0) — Sm(e)] , {
No6 = {A —7 B =2mn, Condition =[Csc(0)=-7], Quest =[Cot(0) + Sec(@)] [

N07=[A =§,B =1, Condition =[Cos(6) zg}, Quest=[2 Tan(@)]}, ,[ﬁ

L____JA\

)
<

\b
1

(
No8 = {A T, B—T Condition = [Cot(0) = 1], Quest =[ Sec(0) — Sm(@)] [ }
X [Page = 0012]
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TrigonometryExercise3 for No.11842

291
I=m 6=— _ _
6 1=270° .6=(-2205)°
Lo 2t P 2=(-315)°  .7=(-930)°
4 4 3=150°  .8=(-1920)°
T 23w o
Nol = 3= 8= ,No2 = o 90
3 3 4 =240 9=|—
T
PR 0
G T - o, [ 900
5=(-1440)° .10=| -
23 ¢ L T J ]
S=-" d0=-15

|
|

1
No3 = [ Conditionl =[Cos(0) < 0], Condition2 = [Sln( 0)= } Quest = Tan( 9) [
No4 = [ Conditionl = [ Cot(0) =-5], Condition2 =[Sec(0) < 0], Quest = Csc(9)], [

S

b

No5 = {A =0,B= %’ Condition = [Tan(e) = é} Quest =[Sin(0) — Sec(e)] , {—(}

&S

Noéz[Azg,B:n, Conditionz{Cot(G)z-l} Quest = [ Sec(9)+Csc(9)] [—(}
No7:[A=37n B=2m, Condztzon—[Sm(e)——s} Quest:[O]}, ,{L}

“

No8 = [A =mn,B =37n’ Condition = [Cos(e) =§}, Quest =[Sin(0) — Cot(O)]}, ,{ v
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TrigonometryExercise3 for No.11901
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- 397 |
I=— 6= ] _
2 4 1=180° .6=(-2850)°
L, ,_ 2= 2=330°  .7=(-1935)°
6 3 3=120° .8=(-1920)°
T 3l = o
Nol=| 3=—7" 8= , No2 = o 360
3 6 4=225°  9=|—
i "
4= 4 9=4 o 540
5=1890° .10=|—
23 ¢ L T
5= 10=05

4
No3 [ Conditionl [Cos( 0)= H}, Condition2 = [ Tan(0) < 0], Quest = Cot( 9)} , {

&
¢

No4 = [ Conditionl = [ Cot(0) =-2], Condition2 =[Sin(0) < 0], Quest = Sec(9)],

=[x \ﬁ.

2

No5 {A 0,B= E’ Condition = {Tan(e) = z} Quest =[Sin(0) + Cos(G)] , [

No6 = {A—— B =m, Condition =[Csc(0) =3], Quest = Cot(6)+Cos(9)] ,[ }

[ on=| co=3 . } M
No7=|A=mn BZT, Condition =| Cot(0) == |, Quest = [ Csc(0) — Sec(9)] N B
3n

No8 [A—T B—2n,Conditionz{Tan(9)=%},Quest=[Sin(9)+Cos(9)]} ,[

> '( }
X ):0:9:9:9:9:9:9:9:9.9:9.9:9.9:9.9:9.9:9.9:9.0:9.9:9.9:0:0:9.9:9:9:9:9:9:9.9:9.9:0.9:9.0:0.0:9.0:9.0:9.0:9.0:9.0:9.0:9.0:9.0:9:0:9:0:0:0.9:9.9:0.9:9.0:0.0:9.0:9.0:9.0:9.0:9.0:0.0:0.0:0.9:9:9:0:0.0:0.¢
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TrigonometryExercise3 for No.11947

R 43 1t
d=——"—  6=- ] _
2 4 1=180°  .6=(-780)°
L,.2r ,_ Unm 2=210°  .7=1395°
3 3 3=225° .8=(-2490)°
K 41 =t o
Nol=| 3=—""" 8= ,No2 = o 180
4 6 4=60 9=|—
11 x S
.4:— 6 9:3 o 540
5=(-2880)° .10=|"—
191 L T J |
S=" 10=35

3
No3 = [ Conditionl = { Sin(0) = g}, Condition2 = [ Tan(0) < 0], Quest = Sec( 6)}, ,

1

EHE

No4 = [ Conditionl =[Cot(0) = 6], Condition2 =[Csc(0) < 0], Quest = Csc(0)],

2

No5 = [A =0,B= g, Condition = [Csc(e) = %}, Quest =[Cot(0) — Tan(e)]}, ,{

I

3n -3
N06:[A :7’ B =2 n, Condition :[Cot(e) :g}, Quest =[Sin(0) — Sec(@)]}, ,{

1

3
N07=[A =7, B =Tn, Condition = [Csc(0) =-7], Quest = [ Tan(0) — Cot(e)]}, ,

1
<[5

N08={A =§,B — , Condition :[Sin(e) =ﬂ OQuest = [ Sec() CO‘[(G)]}, { }
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TrigonometryExercise3 for No.11989

[ 167 |
d=m 6= _ _
3 1=270° .6=(-2550)°
L2k, P 2=(-300)° .7=(-480)°
4 4 3=330° 8=1125°
Sw 83« o
Nol=| 3=—"— 8§=- , No2 = ) 270
6 6 4=(-45)° 9=|—
4n "
A== 9=4 ) 540
5=1080° .10=|-—
151 L T /)
S=-"T" 10=-65

No4 = [ Conditionl = [ Cot(0) =-7], Condition2 =[0 < Sec(0)], Quest = Sin(0)],

2

No3 =| Conditionl = Sln(e):3 , Condition2 = [Sec(0) <0], Quest=Cot(0) |, ,|

No5 = [A =0,B :g, Condition = [Tan(@) :g}, Quest =[Csc(0) — Sec(e)]}, ,{

Nob6 = [A = 37n’ B =2 n, Condition = [Csc(@) = ?}, Quest =[Cot(0) + Cos(G)]}, , {_)}

A
No7 = [A zg, B =, Condition = [COS(@) :%}, Quest =[Sin(0) — Tan(e)]}, , {—()}
1552 o | [
No8 = A=n,B=T, Condition = [Tan(0) =3], Quest =[Cos(0) + Csc(0)] |, ,| ———
[Page = 0016]
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TrigonometryExercise3 for No.11996

261
== 6=— _ _
3 1=90° 6=570°
Lo x A 2=45°  7=2475°
6 4 3=330°  .8=(-2760)°
Tn 7T n o
Nol=|3=—" 8=-— ,No2 = o 180
4 6 4=300° 9=|—
T
PRSP o
T 3 B o B 450
5=(990)° .10=|—
25 ¢ L T J
S= 10=-55

5
No3 = { Conditionl = |:COS(9) = —} Condition2 = [ Cot(0) < 0], Quest = Cot( 9) [

b«ﬁ

| I

No4 = [ Conditionl =[Tan(0) = -1], Condition2 =[0 < Sin(0) ], Quest = Cos(0) ], [

!

6 )
No5 = {A 0,B= E Condition —[Sec(e) ——} Quest =[Sin(0) — Tan(e)] { o }
Nob6 = [A = g, B =m, Condition = [Sec(0) =-4], Quest =2 Cot(O)]}, , {ﬂ}

3n f
No7 = AZT,B=2R, Condition =[Csc(0)=-2], Quest=[0] |, , —(

o

No8 = [A nB—% Condztzon—[Sm(G)— 3} Quest =[Cos(0) — Cot(@)]} ,{ v
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TrigonometryExercise3 for No.12889

T 34
I==6=- ] _
2 3 1=270° .6=(-1215)°
L2, Ol 2=240°  .7=(-510)°
4 4 3=(-330)° .8=(-2640)°
Sw 91w o
Nol=|3=—" 8=-— ,No2 = o 180
3 6 4=45 9=|—
I "
.4:— 6 9:5 o 720
5=1800° .10=|-—
AN L T J ]
S="07 10=-45

I |

5
No3 = [ Conditionl = [ Sin(0) = H}, Condition2 =[Cos(0) < 0], Quest = Tan( 6)}, , |:

No4 = [ Conditionl =[Tan(0) = 1], Condition2 = [Sec(0) < 0], Quest =Csc(0)], ,

1

| IS

NoS5 =[A =0,B =§, Condition = [Sec(0) =41, Quest =[Tan(0) — Csc(e)]}, ,[

R
| |

3n -5
No6 = {A =7, B :7’ Condition = [Cos(@) = H}, Quest =[Cot(0) + Csc(@)]}, , [

=[5
| I

N07:{A =§,B: n, Condition :{Cot(e) :%}’ Quest =[Cos(0) + Csc(e)]}, ,[

-

o«
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3 .
N08=[A =7n,B= 2 , Condition =[sm(e) =ﬂ, Quest = [ Cot() Cos(e)]}, {
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TrigonometryExercise3 for No.12890

21w
A=z 6=— _ _
4 1=270° .6=(-2220)°
Lo 2, Dr 2=(-45)°  .7=(-2130)°
3 6 3=(-150)°  .8=1845°
1l n 4l 0
Nol=|.3=- 8= , No2 = . 270
6 3 4=300 9=|"—
3 "
.4:— 4 9:1 o 810
S5=(-720° .10=|-—
25 ¢ L T J |
5= 10=-25

1
No3 = { Conditionl = {Cos( 0)= —}, Condition2 = [ Csc(0) < 0], Quest = Csc( 6)}, , [—}

2 A
No4 = [ Conditionl =[Cot(0) = 1], Condition2 =[Cos(0) < 0], Quest =Csc(0)], , [—()}

Nos = [A ~0,B= g Condition = [COS(O) - ﬂ OQuest = [Sin(0) + Cot(e)]}, , {

‘\‘\,
[

8
No6 = {A =§, B =, Condition = {cm(e) :7}, Ouest = [Cos(0) + Csc(@)]}, ,
3
N07=[A =m,B ZTE, Condition = [Tan(0) = 1], Quest =[Sin(0) — Sec(e)]}, ,

No8 = [A = STR, B =2 n, Condition = [ Sin(0) = %}, Quest =[Tan(0) + Cot(e)]}, , {—(}
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i 3n 327 |
I=— 6=- . .
2 3 1=180° .6=(-2760)°
L,o2r L, O 2=(-300)° .7=(-510)°
6 4 3=(-315)° .8=(-2205)
4-n 13 T o
Nol=|3=—" 8= ,No2 = o 360
3 6 4=(-330)° .9=|—
3r "
S5=1170° . 10=|—
27 1t T J
5= 10=-45
. 2 ]
_ 3
No3 = { Conditionl = { Sin(0) =

7}, Condition2 = [Cos(0) < 0], Quest = Tan(e)}, ’ [ ﬁ}

No4 = [ Conditionl = [Csc(0) < 0], Condition2 =[Cot(0) =4], Quest = Sec(0)],

{ ‘.) }
b :(
T 3 .
No5 = {A =0,B= E, Condition = [Cot(e) =5}, Quest =[Sin(0) — COS(@)]:|, , [
3n
Nob6 = [A = 7’ B =2 7, Condition =

I

[CSC(@) =ﬂ, Quest = [Tan(0) + cOt(e)]}, { ) }

N07=[A ZE,B: nt, Condition = [Sec(0) =-5], Quest =[Csc(0) — Tan(e)]}, ,[

No§ = [A _n, B =7n, Condition = {cm(e) =ﬂ OQuest = [ Sec() + sm(e)]}, , {
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X

x 1 | )
No8 = A=T,B=2n, Condition = Cos(6)=; , Quest=[Sin(0)—Tan(0)] |, ,| ——
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[ T 237 |
I=— 6= _ _
2 4 1=180° .6=(-1740)°
L, O 2=240°  .7=930°
6 6 3=135° .8=1665°
K 44 n o
Nol=| 3=— 8=- , No2 = . 360
4 3 4=210° 9=|—
T
4=2E 9oy 0
T 3 : B o B &10
5=(-360)° .10=|—
17 L T J |
S="" 10=-05

5
No3 = { Conditionl = |:COS( 0)= g}, Condition2 =[Csc(0) < 0], Quest = Tan(0) }, ,

No4 = [ Conditionl = [ Tan(0) = -4], Condition2 = [ Cos(0) < 0], Quest = Sin(0) ],
T 4

No5 = {A =0,B= E’ Condition = [Tan(e) = g}, Quest =[Cos(0) + Csc(e)]}, , {
3n

No6:{A :n,B:T

, Condition = [Cot(@) = g}, Quest=[Sin(0) + Cos(@)]}, , [

No7 = [A :%, B =, Condition =[Sin(6) =ﬂ Ouest = [2 COt(e)]}, , [L()

NERE

2

| IS

I
| S
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TrigonometryExercise3 for No.13099

47
== 6=— _ _
6 1=270° 6=12220°
AT A 2=120°  .7=2670°
4 4 3=330° .8=1665°
41 381 o
Nol=|3=—" 8= ,No2 = o 180
3 3 4=(-135)° 9=|—
P 9=7 "
T 6 o B 0 [ 9%
5=1440° .10=
117w L T i
5= 10=0.5

1
No3 = [ Conditionl =[Sin(0) < 0], Condition2 = |:COS( 0)= 5}, Quest = Cot( 9)},

=[5

2
2

No4 = [ Conditionl = [0 < Sec(0)], Condition2 = [ Tan(0) =-1], Quest = Sin(0)],

~

[ no } {f}
No5 = A=0,B=E, Condition =[Csc(0)=2], Quest =[Sec(0) —Tan(0)] |, ,| —
No7 = {A = g, B =m, Condition = |:COS(9) = ;—Lﬂ, Quest =2 Cot(e)]}, , {L()}

“

o«
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|
|

2)
(
)
)

5

No6:[A =m,B :3771, Condition = [Csc(0) =-5], Quest =[Sec(0) — Cot(e)]}, , (

3 5
N08=[A =7n,3=2 r, Condition =[cm(e)=ﬂ, Ouest = [Sin(9)+Cos(9)]}, {
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TrigonometryExercise3 for No.13100

i 3 11 7]
I=—"— 6=- i _
2 3 1=90° .6=1860°
S r o Ol 2=(-225)°  .7=2835°
6 6 3=60° 8=(-1230)°
4n 41ﬂ [
Nol=| 3=—"" §=— ,No2 = o 360
3 4 4=(210° 9=|—
Y T o
.4=P—:[ 9=2 . 99()
5=(-1080)° .10=|-——
31n L T
S=- 10=3.5
i 2 ]

5
No3 = [ Conditionl = {Cos( 0)= g}, Condition2 =[Sin(0) < 0], Quest = Tan( 9)}, ,

|
|

No4 = [ Conditionl = [ Cot(0) =-6], Condition2 =[Sec(0) < 0], Quest = Csc(9)],

b

| R |

No5 =[A =0,B =£, Condition =[Csc(0) = 2], Quest =[Cot(0) — Tan(e)]}, ,[
No6=[A =§, B =, Condition =[Sec(6) :ﬂ OQuest = [Sin(0) + Cot(@)]}, [
3

4
N07=[A ZTE,B =2 n, Condition z[Cos(O) =g}, Quest=[Cot(0) + Csc(e)]}, ,[
3

|
|
|

No8=[A=Tt,B=_na Conditi0n=[CSC(9)=?}a Quest=[Tan(9)—Sec(9)]}, {\/7}
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TrigonometryExercise3 for No.13139

[ REs 217 |
I=— 6= ] _
2 4 1=90° 6=(-1845)°
S, I 10 2=(-225)°  .7=(-2640)°
4 3 3=120° .8=(-1290)°
S5n 291w o
Nol=| 3=— 8= , No2 = . 270
6 6 4=210 9=|—
T
=2 gy o
4= 9= ) . [ 630
5=(-1080)° .10=|-——
5T L T J |
S=——— .10=05
L 2 4

1
No3 = [ Conditionl =[Sin(0) < 0], Condition2 = |:COS(9) = ;}, Quest = Tan(e)}, , [

| I

No4 = [ Conditionl =[Cot(0) = 6], Condition2 = [ Cos(0) < 0], Quest =Csc(0)], ,

| IS

No5 = {A =0,B zg, Condition = [Tan(e) 22}, Quest =[Cos(0) + Csc(e)]}, , {

=[5
|

3n -1
Noéz[A =m,B :7’ Condition :[Cos((?)) :7}, Quest =[Cot(0) + Csc(O)]}, ,{

3 -1
N07=[A ZTE,B:2 n, Condition =[Sin(9) :E}, Quest =[Sec(0) — Tan(e)]}, ,[

-

N08=[A=§,B=n,Conditionz{Csc(9)=§},Quest=[0]}, ,[ y
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[ 237t |
A=z 6=— _ _
6 1=90° .6=(-510)°
L2 D 2=(-135)°  .7=495°
3 3 3=240°  .8=(-1320)°
Sw 331 o
Nol=| 3=—— 8= , No2 = . 90
6 4 4=(210° 9=
T
42T 93 0
7Ty ' o reno (9%
5=1080° .10=
AN L T J |
S=-" 10=-55

4
No3 = { Conditionl = [ Sin(0) = H}, Condition2 =[Cot(0) < 0], Quest = Cot(0) }, ,

No4 = [ Conditionl = [Sec(0) < 0], Condition2 =[Cot(0) =-6], Quest = Csc(9)], [

5

1

No5 = {A =0,B =§, Condition = |:COS(e) =§}, Quest =[Tan(0) + Sin(e)]}, , [

Noéz[A =7n,B — 2 1, Condition =[Sec(9) =ﬂ Ouest = [ Sin(0) + Cot(e)]}, [
N07=[A zg,B =1, Condition =[Tan(6) zg}, Quest =[Cos(0) + Sin(e)]}, ,[

3w -9 B
No8 = [A =mn,B= 7’ Condition = {c“(e) = Z}’ Quest =[Cos(0) + Tan(e)]}, , {—(}
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